Answers

1)

2)

3)
4)

a) 250, 400
b) 200, 260, 280

a) 150g
b) 120g

120ml
12 stickers

1)

2)

3)

Meera is incorrect as the scales are different. The first scale shows 100 divided into two equal parts
and the second scale shows 100 divided into four equal parts.

The first scale is showing 350g and the second 175g.
100 divided into five equal parts is 20.

There were 200g of strawberries altogether, which is double 100, so if we double the equal part we will know
that each person receives 40g of strawberries.

100 divided into four equal parts is 25.
100 + 100 + 100 + 25 = 325, which is less than 350.

1)

a) 90 more red cars than silver cars.
b) 20 fewer black cars than red cars.

c) 190 silver and red cars in total.
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